

A

�
∗
�

:
�
∗
� A

�
=−m�

A

x

A

�
∗
�

: =

A

x�
x ∗
�

:

x

−
�

x ∗

−
�

= −m
x�

A

A

�
∗
�

:
�
∗
�

µ

µ
A
�
=

B

∗�B∼σµ
A

x

A

�
∗
�

:

µ

=

A

x�
x ∗
�

:

x

−
�

x ∗

−
�

µ

=
x B

∗�B∼σµ
A



A

∗

�
∗
�

:
�
∗
� ∗

�A

= −m
A

∗�

x A

∗

�
∗
�

: =

A

∗

x�
x ∗
�

:

x

−
�

x ∗

−
�

= −m
x A

∗�

A

∗

�
∗
�

:
�
∗
�

µ

µ
∗
�A

= �
B

Bσµ
A

x A

∗

�
∗
�

:

µ

=

A

∗

x�
x ∗
�

:

x

−
�

x ∗

−
�

µ

=
x�

B
Bσµ

A



∗

A

�
∗
�

:
�
∗
� A

∗�
= A∼σµ

B µ

B

�−m
∗
�

A

x ∗

A

�
∗
�

: =

∗

A

x�
x ∗
�

:

x

−
�

x ∗

−
�

= A∼σµ
B

x
µ

B

−
�−m

x ∗
�

A

∗

A

�
∗
�

:
�
∗
�

µ

µ
A

∗�
= 0

x ∗

A

�
∗
�

:

µ

=

∗

A

x�
x ∗
�

:

x

−
�

x ∗

−
�

µ

= 0



A

�
∗
�

:
�
∗
� �A

= Aσµ
B µ

∗
�

B
−m

A

�

x A

�
∗
�

: =

A
x�
x ∗
�

:

x

−
�

x ∗

−
�

= Aσµ
B

x
µ

∗

−
�

B
−m

x A

�

A

�
∗
�

:
�
∗
�

µ

µ�A

= 0

x A

�
∗
�

:

µ

=

A
x�
x ∗
�

:

x

−
�

x ∗

−
�

µ

= 0



0 σµ

∼σµ 0

[
x
µ−
�

x
µ

∗

−
�

]
= m

[x�
x ∗
�

]
0 Aσµ

B
A∼σµ

B
0

[
x
µ

B

−
�

x
µ

∗

−
�

B

]
= m

[
x A

�
x ∗
�

A

]

−m
x�

A
=

x

A

�
∗
� : =

µ

x

A

�
∗
� :

µ

=
x

µ

B

∗�B∼σµ
A

=
x

µ ∗

B

� B∼σµ
A

A∼σµ
B

x
µ

B

−
� −m

x ∗
�

A
=

x ∗

A

�
∗
� : =

µ

x ∗

A

�
∗
� :

µ

= 0

−m
x A

∗� =

x A

∗

�
∗
� : =

µ

x A

∗

�
∗
� :

µ

=
x

µ
�

B
Bσµ

A
=

x
µ−
�

B
Bσµ

A

Aσµ
B

x
µ

∗

−
�

B
−m

x A

� =

x A

�
∗
� : =

µ

x A

�
∗
� :

µ

= 0


